1) FROM "noon1a-1.doc)" , Top row of altitudes.



Hs = 10.035° at GMT 
1220



Hs = 10.043° at GMT 
1245

Add GMTs, Divide by 2


24-65/2 = 12-32-30

Time of Meridian Pass (uncorr.)
12-32-30

2) FROM 2008 NAUTICAL ALMANAC, 12-21:

GHA Sun at  1200h = 0° 25.8'             Dec = S 23° 26.4'     (d=0')

                + 32m-30s = 8° 07.5'
GHA Sun at 1230    =  8° 33.3'

V Corr, 10kt Away    + 1° 11.8' ***


 Longitude     = 9° 45.1' W        (9.698° = 9° 41.9

' W per noon1a-1.doc)

3) LATITUDE:

Zenith    = 89° 60.0'

1240 H  = 10° 04.0'


  (10.067° per noon1a-1.doc = 10° 04.0') 
           z   = 79° 56.0' =    

Dec           -23° 26.4'  

Latitude = 56° 29.6'  N                       (56.479° from noon1a-1.doc = 56° 28.7')

Hewitt: Lon =  9° 45.1' W.      George: Lon =   9° 41.9' W.     Difference = 3.2'

      "      Lat =  56°' 29.6' N             "        Lat  = 56° 28.7' N              "          = 0.9'

*** From LATITUDE AND LONGITUDE BY THE NOON SIGHT, Hewitt Schlereth, 1982, Seven Seas Press:

Page 130, Table 4 - Shift in Longitude at Speed of 6 Knots:

For Lat 55° N, Dec S 24° , Correction is 43'

Ratio of vessel speed to table speed = 10/6 = 1.67; 1.67 X 43' = 71.8' = 1° 11.8'

